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NEET MICRO TEST 25 (05.12.2024)    20x4=80 MARKS 

 

Botany: Sexual reproduction in flowering plants, Zoology: Evolution 

Chemistry: Equilibrium, Physics: Dual Nature of Radiation & matter 

 

1. Germpores in pollen grains are 

1) Prominent apertures in exine where 

sporopollenin is absent 

2) Prominent apertures in intine where 

sporopollenin is absent 

3) Prominent apertures in sporoderm where 

cellulose is absent 

4) Prominent apertures in sporoderm where 

intine is absent 

 

2. In a pollen grain intine is chemically made up of 

1) Cellulose and lignin 

2) Sporopollenin 

3) Cellulose and pectin 

4) Cellulose and suberin 

 

3. Symbiotic pollination is seen in 

1) Amorphophallus 

2) Yucca 

3) Eucalyptus 

4) Both (1) and (2) 

 

4. Viability of pollen grains depend up on 

1) Type of species 

2) Prevailing temperature and humidity 

3) Size of pollen grains 

4) Both (1) and (2) 

 

5. Find the plant in which both autogamy and 

geitonogamy are prevented 

1) Castor 

2) Maize 

3) Cucumber 

4) Papaya 

 

6. The theory of chemical evolution of life was 

proposed by 

1) Ernst Heckel and Karl Ernst Von Baer 

2) Charles Darwin and Lamarck 

3) Urey and Miller 

4) Oparin and Haldane 

 

1. kfue;jj; Jfs;fspy; cs;s kfue;jJis vd;gJ 

1) ];NghNuhNghy;nydpd; ,y;yhj vf;irdpy; 
cs;s Kf;fpa Jisfs; 

2) ];NghNuhNghnydpd; ,y;yhj ,d;ildpy; 
cs;s Kf;fpa Jisfs; 

3) nry;YNyh]; ,y;yhj ];NghNuhnlu;kpy; 
cs;s Kf;fpa Jisfs; 

4) ,d;ild; ,y;yhj ];NghNuhnlu;kpy; cs;s 
Kf;fpa Jisfs; 

 

2. xU kfue;jj; Jfspd; ,d;ild; Ntjpapay; 
uPjpahf ,jdhy; MdJ 

1) nry;YNyh]; kw;Wk; ypf;dpd; 
2) ];NghNuhNghy;nydpd; 
3) nry;YNyh]; kw;Wk; ngf;bd; 
4) nry;YNyh]; kw;Wk; Rngupd; 

 

3. xUq;Faphp kfue;jr; Nru;f;if ,jpy; 
fhzg;gLfpwJ 

1) mkhu;Nghghy]; 
2) A+f;fh 
3) A+fypg;l]; 
4) ,uz;Lk; (1) kw;Wk; (2) 

 

4. kfue;jj; Jfs;fspd; tsj;jd;ik ,jidg; 
nghWj;jJ 

1) rpw;wpdq;fs; tif 

2) epyTk; ntg;gepiy kw;Wk; <ug;gjk; 
3) kfue;j Jfs;fspd; msT 

4) ,uz;Lk; (1) kw;Wk; (2) 

 

5. jd; kfue;jr;Nrh;fif kw;Wk; Nfa;l;bNdhNfkp 
,uz;Lk; jLf;fg;gl;l jhtuj;ijf; fz;lwpaTk; 

1) Mkzf;F 
2) kf;fhr;Nrhsk; 
3) nts;sup 
4) gg;ghsp 

 

6. capupd; Ntjpapay; gupzhkf; Nfhl;ghL 
,th;fshy; Kd;nkhopag;gl;lJ 

1) vu;d;];l; n`f;fy; kw;Wk; fhu;y; vu;d;];l; thd; 
Ngu; 

2) rhu;y]; lhu;tpd; kw;Wk; yhkhu;f; 
3) A+Nu kw;Wk; kpy;yu; 
4) Xgupd; kw;Wk; `hy;Nld; 
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7. The fitness according to Darwin refers ultimately 

and only to 

1) reproductive fitness 

2) physical fitness 

3) mental fitness 

4) both 2 and 3 

 

8. Embryological support for evolution proposal was 

disapproved on careful study performed by 

1) Ernst Heckel 

2) Karl Ernst Von Baer 

3) Darwin 

4) Lamarck 

 

9. The process of evolution of different species in a 

given geographical area starting from a point and 

literally radiating to outer area of geography is 

called 

1) Adaptive radiation 

2) Convergent evolution 

3) Analogy 

4) all of these 

 

10. Which of the following was a flying dinosaur? 

1) Triceratops 

2) Pteranodon 

3) Stegosaurus 

4) Brachiosaurus 

 

11.  

 
Which acts as both bronsted acid and base 

1) a, b 

2) b, c 

3) a, c 

4) a, b, c 

 

12. 100ml of 0.1M H2SO4 added to 200ml of 0.1M 

NaOH, calculate pH of resultant solution is 

1) 2 

2) 10 

3) 7 

4) 12 

 

13. Ksp of Mg(OH)2 is 4 x 10–12. The pH of an 

aqueous saturated solution of Mg(OH)2 is 

1) 3.58 

2) 9.7 

3) 10.3 

4) 6.76 

 

7. lhu;tpdpd; $w;Wg;gb jFjp vd;gJ ,Wjpapy; ,ij 
kl;LNk Fwpf;fpwJ 

1) ,dg;ngUf;fj; jFjp 
2) cly; jFjp 
3) kd MNuhf;fpak; 
4) 2 kw;Wk; 3 ,uz;Lk; 

 

8. gupzhk Kd;nkhopTf;fhd fUtpay; MjuT> 
ftdkhf Ma;T nra;jjpy; ,tuhy; 
kWf;fg;gl;lJ 

1) vu;d;];l; n`f;fy; 
2) fhu;y; vu;d;];l; thd; Ngu; 
3) lhu;tpd; 
4) yhkhu;f; 

 

9. nfhLf;fg;gl;l Gtpapay; gFjpapy; ntt;NtW 
rpw;wpdq;fspd; gupzhk tsu;r;rpapd; 
nray;KiwahdJ xU Gs;spapy; ,Ue;J 
njhlq;fp Gtpapaypd; ntspg;Gw gFjpf;F 
Neubahd guty; ,t;thW miof;fg;gLfpwJ. 
1) jftikg;G guty; 
2) Ftp gupzhkk; 
3) nranyhj;j cWg;Gfs; 
4) ,it midj;Jk; 

 

10. gpd;tUtdtw;wpy; gwf;Fk; ilNdhru; vJ? 
1) l;iunruhlhg;]; 
2) Pteranodon 

3) ];nlNfhnrhu]; 
4) gpuhr;rpNahnrhu]; 

 

11.  

 
,J g;uhd;];nll; mkpyk; kw;Wk; fhuk; Mfpa 
,uz;lhfTk; nray;gLfpwJ 

1) a, b 

2) b, c 

3) a, c 

4) a, b, c 

 

12. 100ml 0.1M H2SO4 200ml 0.1M NaOH ,y; 
Nru;f;fg;gl;lJ> jput fiurypd; pH kjpg;G 

1) 2 

2) 10 

3) 7 

4) 12 

 

13. Mg(OH)2 ,d; Ksp 4 x 10–12 MFk;. Mg(OH)2 ,d; 
ePu; epiwTw;w fiurypd; pH kjpg;G 

1) 3.58 

2) 9.7 

3) 10.3 

4) 6.76 
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14. In which of the following, salt hydrolysis is not 

possible 

1) CH3COONa 

2) Ca3(PO4)2 

3) CH3COONH4 

4) K2SO4 

 

15. The pKa of acetic acid and pKb of ammonium 

hydroxide are 4.76 and 4.75 respectively. 

Calculate the pH of ammonium acetate solution 

1) 6.005 

2) 8.005 

3) 7.005 

4) 5.005 

 

16. If a photocell is illuminated with a radiation of 

1240 Ao, the stopping potential is found to be 8 

volt; then the work function of the emitter and 

the threshold wavelength are 

1) 2 eV, 2000 Ao 

2) 2 eV, 6200 Ao 

3) 2 eV, 2480 Ao 

4) 3 eV, 6200 A 

 

17. The frequency of incident light falling on a 

photosensitive metal plate is double, the KE of 

the emitted photoelectrons is 

1) double the earlier value 

2) unchanged 

3) more than doubled 

4) less than doubled 

 

18. The slope of frequency of incident light versus 

stopping potential for a given surface will be 

(Frequency of incident light taken on x–axis and 

stopping potential is taken on y–axis) 

1) h/e 

2) eh 

3) e 

4) h 

 

19. The kinetic energy of electron is E when the 

incident light has wavelength λ. To increase the 

E to 2E, the incident light must have wavelength 

1) 
hc

Eλ–hc
 

2) 
hcλ

Eλ + hc
 

3) 
hλ

Eλ + hc
 

4) 
hcλ

Eλ− hc
 

 

14. gpd;tUtdtw;wpy; cg;G ePuhw;gFg;G 
rhj;jpakpy;iy 

1) CH3COONa 

2) Ca3(PO4)2 

3) CH3COONH4 

4) K2SO4 

 

15. mrpl;bf; mkpyj;jpd; pKa kw;Wk; mk;Nkhdpak; 
i`l;uhf;irl;bd; pKb KiwNa 4.76 kw;Wk; 
4.75 MFk;. mk;Nkhdpak; mrpNll; fiurypd; pH 
kjpg;G 

1) 6.005 

2) 8.005 

3) 7.005 

4) 5.005 

 

16. xU /Nghl;Nlhnry; 1240 Aº fjpu;tPr;Rld; 
xspA+l;lg;gl;lhy;> epWj;Jk; jpwd; 8 Nthy;l; 
MFk;; gpd;du; ckpo;g;ghd; Ntiy nray;ghL 
kw;Wk; thry; miyePsk; 
1) 2 eV, 2000 Ao 

2) 2 eV, 6200 Ao 

3) 2 eV, 2480 Ao 

4) 3 eV, 6200 A 

 

17. xspr;Nru;f;if cNyhfj; jfl;bd; kPJ tpOk; 
xspapd; mjpu;ntz; ,ul;bg;ghFk;> ckpog;gLk; 
xspkpd;dZf;fspd; ,af;f Mw;wy; 
1) Ke;ija kjpg;ig ,ul;bg;ghf;F 

2) khwhky; 
3) ,Uklq;F mjpfhpj;jy; 
4) ,Uklq;F Fiwjy; 

 

18. nfhLf;fg;gl;l Nkw;gug;gpy; gL xspapd; 
mjpu;ntz;zpw;Fk; epWj;Jk; kpd;dOj;jj; 
jpw;Fk; ,ilNaahd rha;T (x- gL xspapd; 
mjpu;ntz; kw;Wk; y-mr;rpy; epWj;J 

kpd;dOj;jk;) 
1) h/e 

2) eh 

3) e 

4) h 

 

19. gL xsp miyePsk; λ nfhz;bUf;Fk; NghJ 

vyf;l;uhdpd; ,af;f Mw;wy; E MFk;. E I 2E 
Mf mjpfupf;f> gL xsp miyePsj;ijf; 
fz;bg;ghff; nfhz;bUf;f Ntz;ba kjpg;G 

1) 
hc

Eλ–hc
 

2) 
hcλ

Eλ + hc
 

3) 
hλ

Eλ + hc
 

4) 
hcλ

Eλ− hc
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20. Which one of the following is true in the 

photoelectric emission? 

1) The threshold frequency depends upon the 

wavelength of incident light 

2) Above the threshold frequency the maximum 

KE of photoelectron is inversely proportional 

to the frequency of incident light 

3) Photoelectric current is directly proportional 

to the intensity of light of a given frequency 

at moderate intensities 

4) Photoelectric current is directly proportional 

to the intensity of light of given frequency 
 

20. xspkpd; ckpo;tpy; gpd;tUtdtw;wpy; vJ rhp? 
1) gaDU mjpu;ntz; gL xspapd; 

miyePsj;ijg; nghWj;jJ 

2) gaDU mjpu;ntz;Zf;F Nky;> 
xspkpd;dOj;jj;jpd; mjpfgl;r KE> gL 
xspapd; mjpu;ntz;Zf;F Neu;khwhd 
tpfpjhrhukhFk; 

3) xspkpd;Ndhl;lk; nfhLf;fg;gl;l miyePsk; 
nfhz;l xspapd; xspr;nrwpT khWghl;bw;F 
Neh;jftpy; ,Uf;Fk; 

4) xspkpd;Ndhl;lk; nfhLf;fg;gl;l miyePsk; 
nfhz;l xspapd; xspr;nrwpT Neh;jftpy; 
,Uf;Fk; 
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NEET MICRO TEST 25 (05.12.2024)    20x4=80 MARKS 

 

Botany: Sexual reproduction in flowering plants, Zoology: Evolution 

Chemistry: Equilibrium, Physics: Dual Nature of Radiation & matter 

 

Solution 

 

1. Answer: (1) 

2. Answer: (3) 

3. Answer: (4) 

4. Answer: (4) 

5. Answer: (4) 

6. Answer: (4) 

7. Answer: (1) 

8. Answer: (2) 

9. Answer: (1) 

10. Answer: (2) 

 

11. Answer: (2) 

Any substance accept and donate H+ ions are 

called both bronsted acid of base   

 

12. Answer: (3) 

VANA = 100 x 0.1 = 20 

VBNB = 200 x 0.1 = 20 

As VANA = VBNB the solution is neutral and 

pH of resultant solution is   

 

13. Answer: (3) 

 
 

14. Answer: (4) 

 
 

 

 

 

 

15. Answer: (3) 

 
 

16. Answer: (2) 

 
 

17. Answer: (3) 

 
 

18. Answer: (1) 
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19. Answer: (2) 

 
 

20. Answer: (4) 

Photoelectric current is the number of 

photoelectrons ejected per second which 

depend only on the intensity of the incident 

light. (v0 does not depend on λ, KE ∝ 
frequency) 
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